JBISTHTRAN —2 4% [ FBEEDES /N34 . = i
ANEBEZE—& TR E5H48(A)
BRSO LS
#H 142 201 3z AfiL 51 613z 762 813z
g [4F£BF100m Bl g% 17730|5ig #E2f 17733
F |(6A4H) B0/ NGR -0.7\BF0/) NGR -0.7
b |5EEBEF100m 57 A8 15772\ ki E—EB 15781 |8k IHR 16”50 R 17731 ILAR FA 17776 |8RE =18 17787|ILA A 18”07
7 (6A4E) BEF1/h NGR -0.1|HEX/N NGR -0.1|EF/h -0.1|E#0/ -0.1|E#0/ -0.1|E#0/ -0.1|E#0/ -0.1
7 |65 4B F100m FRE &3 15705 ¥ {B# 15726;2M & 15771
7 |em4am) SFEAL A +0.8| EA/I +0.8| STAEALIN 408
Z INEB T EER W BE6)  3md0|RE #36)  3m38| LAIFF FG)  3mi14|BW EHG)  3m0s|ikE E(6) 3m01 [iBAR H=(B)  2m89|luA FHAB)  2m59
,L'(5H4E|) EF/ -0.9|3LfEdL/N -0.5|EF0/ -0.7|EF0/ +0.1|3ZTEJL/ -0.9|EF0/ -0.8|EF0/Is -0.4
4L F100m BE LBH 17744\ ILAK % 17754\ 77 F#FHE 18790/ KH HH 19707
7 (GA4R) EF/ -0.9|EF0/1 -0.9|EF0/ -0.9|EF0/ -0.9
b [5EEZF100m HN R 16746 |##H #&3% 18719|His % 18”75\ [R F& 19718
7 [(5R48) B0/ -0.3| EF0/1 -0.3|EF0/ -0.3|EF0/ -0.3
7 6 £ & F100m FE E 17742
7 |sm4m) AL -03
Z-/J\?—t?ﬂ%ﬂ% BN OERG)  3mi12|FEE E6) 2m73|lUA %(5) 2m62| R FG)  2m56|FRiE HH(G) 2m35 fH #EXG)  2m28 |7 RFEM4) 2mi10
,L'(5H4El) EF/n -0.2| i fEdL/ -0.4|EF0/> -1.2|EF/ -1.3|EF/ -0.1|EF0/ -0.5 |EF/ -2.0




